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Part A: Grammar and Vocabulary

Directions: Questions 71 — 80 are incomplete sentences. You will see four words
or phrases, mark (1), (2), (3), and (4) for each sentence. Choose the one word or
phrase that best complete the sentence. Then mark your answer sheet.

71)- Seriously, if Farhad ......... younger, he wouldn't lose this match so fast.

1) was 2) wasn't 3) were 4) weren't

72)- Iam ......... worried, would you give me ......... information about the interview?

1) a little-some 2) some-a little 3) a littlemany  4) some-a few

73)- After walking a long distance in the dark jungle, they understood that a wild lion

......... them already.

1) follows 2) had been followed

3) followed 4) had followed
74)- They have promised him ......... harder for next exam.

1) to study 2) study 3) studying 4) be studying

75)- If they like to do it completely they must try harder. Remember, practice makes .........
1) complete 2) perfect 3) better 4) suitable

76)- The elderly need to be cared and their blood ......... must be checked regularly.
1) cell 2) compression 3) pressure 4) measure

(V)
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77)- Those who rarely eat vegetables and fruits have not a correct food ......... and will

face different health problems.

1) meal 2) shop 3) habit 4) service

78)- You should ......... your language skills by practice and patience.

1) develop 2) quit 3) grow up 4) decrease

79)- Iran as a vast country has a wide ......... of cultural and historical sights.
1) differently 2) diversity 3) humanity 4) identity

80)- Didn't they figure out the IRIB ......... for which word?

1) stands 2) means 3) says 4) sits

Part B: Cloze Test

Directions: Read the passage and choose the word which best fits each gap.
Then mark the number on your answer sheet.

4th planet from the sun is Mars. Your weight will decrease (81) ....... 100 lbs.
....... 35 1bs. on Mars. A year on Mars lasts twice as (82) ....... a year on Earth.
Mars's atmosphere is 100 times (83) ....... than Earth's and it can't keep heat
energy. More than 90 (84) ....... of Mar's atmosphere contains carbon dioxide.
81)-

1) to-from 2) from-to 3) by-from 4) to-by
82)-

1) long as 2) long 3) longer 4) longest

83)-

1) big 2) the biggest 3) thin 4) thinner

84)-

1) percent 2) quantity 3) numbers 4) amount

Part C: Reading Comprehension

Directions: In this part you will read two passages which are followed by four questions.
Choose (1), (2), (3), or (4) and mark your answer sheet.

Passage (1)

One of the most important time management techniques is SMART goals,
which would be easily introduced to a daily plan. This simple technique easily
order the goals and plans:

()
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1. S: You must have specific and clear goals. Think about the things you
really want.

2. M: measure your improvement to gain the goals.

3. A® the goals should be achievable based on abilities and skills.

4. R relevant goals are in the correct way to meet our needs and desires.

5. T: have a time-bound for the goals. it means that know when and how a
goal should be finished.
All of these ideas, make a suitable collection for your all goals and put them
together in right shape and proper relation.

85)- What is the main subject of this passage?
1) Time management skills 2) Simple and clear goals

3) SMART plan 4) A technique to set your goals

86)- The letter "R" refers to:
1) Relevant 2) Real 3) Rate 4) Right

87)- All of these things should be done to have a/an ...... plan.
1) hard 2) correct 3) shape 4) easy

Passage (2)

Culture as an umbrella term has two parts: the social behavior and standards
which will be found in human societies. Knowledge, beliefs, arts, and customs
shape the social behavior and also make some standards. Humans gain culture
by learning how to behave in social relations. They make their social habits in
this way. They will be guided for their wearing, speaking, and all sides of
behaving. Also, religion is the main part of a culture. Religious beliefs are
always the important matters for people and their organizations. It is clear that
a compound culture with different values and varied aspects has a powerful

1dentity.
88)- Which choice would describe the term umbrella?

1) Wide meaning 2) Wide words

3) Umbrella shape 4) Umbrella meaning
89)- How will a society have a powerful identity?

1) By its religion 2) By its diversity

3) By its cultural diversity 4) By its social standards

90)- in line 7, the word "matters" means .........
1) communications 2) relations

3) societies 4) subjects

(Ve)
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